Q1. The major aim of a country to devalue
its currency is:

Tl o1 T 37velt HET F ITHEIT FT IHE 3552 FAT
BT 82

(a) encourage imports/ 3T HI FcATfed AT
(b) discourage both exports and imports/ f&aTa
3R 3T QT Y gAreaTied AT

(c) encourage both exports and imports/ f&aTd
3R 3mard St i Aearfed e

(d) encourage exports/ fFaTd FI Wcaed H=T

Q2. The internal prices during Devaluation
usually :

IHAR W IaHeAT & SR AalkF Here:

(a) fall/ffr &

(b) rise/gefe BT §

(c) remain unchanged/ HI$ scaTd F&T 81T
(d) None of the above/3TH & F1S A&l

Q3. Dear money refers to money with-
B3R 7+l 1 T IR @ Fay 2

(a) low rate of interest/ saTeT &I HH &I

(b) high rate of interest/ sJTT $T 3T &I
(c) depression/ 3ddre

(d) inflation / HaredIfer

Q4. Narrow money is a category of money

supply that includes:

A 7=l dF B et A v Aol § S F=T A
&

(a) The sum of currency in circulation and the
demand deposits in banks/ HeT & Heele 3R et &
[EGIERERIIE G T

(b) The sum of MI money and the time deposits/
MI ¥ 3R ersa BUfaa 1 Irer

(c) The market value of the stocks held by all
the holders excluding the promoters/ J&eT &r
BIsH T URHT GaNT T AT R T TOR 7o

(d) None of these/31d & HIS !

Q5. A specified minimum fraction of the
total deposits of customers, which
commercial banks have to hold as reserves
either in cash or as deposits with the
central bank is called the-

gl B Fel AN FT 0F fAfese sygeran s, TR
Fifofsas 3=t & 99 a1 A AFe F T H IRAT @1
11 § I &7 F & grw FA F T H, 39 7 F@
ST 872

() Variable Reserve Ratio/ 9Rad=T 3R T&T

3T
(b) Cash Reserve Ratio/ #eh¢ 3RT&T 3eIdTel

(c) Statutory Liquidity Ratio/ |ifafeie serdl edre
(d) Minimum Reserve Ratio/ =geId# R&d
3‘1?‘!’%

Q6. “Legal Tender Money” refers to :
“ahrer EsT Ay o & weafa @2

(a) Cheques/ d&

(b) Currency notes/ Hgl Alc

(c) Drafts/ sT¥c

(d) None of these/3a# ¥ ®IS AT

Q7. The terms ‘bear’ and ‘bull’ are used to
describe general actions and attitudes
related to which of the following
commercial activity ?

‘bear’ 3T ‘bull’ ereg FT g2 AFT § ¥ vy
Fiofoas afafafer & e e s sk
TSI &1 quid et & forw fFam rar 72

(a) Banking/ Sf&ar

(b) E-commerce/ $-HIFET

(c) International trade/ 3RS AR

(d) Stock market/ IR ISR

Q8. Gresham’s law is related to

IR &1 A FEw wafta &2

(a) Consumption and demand/ 398037 3iX AT
(b) Supply and demand/ 3qfel 3R Afer

(c) Circulation of money/ 33 & Helet

(d) None of these/za# ¥ IS AgT

Q9. Who are the creditors of a Corporation
2

A & AER Fl §2

(2) Bond holders/ §ics &R

(b) Stock holders/ Teld UR®

(c) Both Bond and Stock holders/ df=s 3R Teie
alel e

(d) None of these/g# ¥ &I TgT

Q10. What is USP in marketing field?
ot 87 & USP FaT §?

(a) Uninterrupted power supply

(b) Universal standards of production

(c) US Programme based

(d) Unique Selling Proposition

Q11. The tax placed on legal documents,

usually in the transfer of assets or property
is known as?

FIefeAT GEATAST ST AT Y, AR T W AT



Wl & geaiavor WAy, 3@ FE 9 F S S 87
(a) Excise Tax/ 3cqlg

(b) Stamp duty/ ¥TFT [eh

(c) VAT/ &< (d) Octroi/ 3NFAS

Q12. “The General Equilibrium Analysis”
was developed by

“HIAT Wfore faeawor” fha & ganr s fmar
AT g717?

(a) Leon Walras / feraie arerd

(b) Ricardo/ R&r8f  (c) Marshall/ AT

(d) Adam Smith/ TsH &Y

Q13. The first computer made available for
commercial use was :

SAITATAS 39ANT & fAT 3T FIAT AT IgalT
HFTYT FisT AT AT?

(a) MANIAC (b) ENIAC  (c) UNIVAC

(d) None of these/31d & HIS AT

Q14. ‘Take-off stage’ in an economy means
TH HIHTEAT A TH-IHTG T’ FT AT §:

(a) Steady growth begins/ R fasr & g1em &
(b) Economy is stagnant/ 37¥cIaTT ST §§ g
(c) All controls are removed/ @&t fag=or ger GU
ST &

(d) None of these/gTH T &5 =Tgl

Q15. Malthusian theory of population
shows the relationship between-

SAEEAT F AT Rguia B & @i & daer Hr
galfar 7

(a) food supply and demand/ @eg 3qfe 31X #HiT
(b) food supply and population growth/ @ca

(c) population growth and development/ STAEET
gefr 3R faer

(d) Employment and resources/ AR 3iX TATYA

Q16. The average income earned per
person in a given area in a specified year is
known as?

fafése a¥ F fnelt R 1w a7 & wfay =afea qamor sifsia
sitae I o w9 # Sl S 87

() Per capita monetary income/ 9fa safaa #Alfgs
ma

(b) National income/ ISET 3T

(c) Per capita rural income/ 9fa safada amsioT 3max

(d) None of these/3s1# & IS =Tgl

Q17. Gross National Product — Depreciation
Allowance = ?

HS TSET 3cUTE — HEAETH Hal =7

(a) Per Capita Income/ 9fa eafad 3ma

(b) Gross Domestic Product/ dehel EIQTBF 3curg
(c) Personal Income/ safFaqrd 3T

(d) Net National Product/ %@U@'ﬂ'm
Q18. Liberalism stands for

3ERAG 1 7Y §2

(a) religious orthodoxy/ &nfie &feardr

(b) freedom in social, political and economic
aspects/ |IATIH, Tefeliicien R 3TIH qgef3i
FadAar

(c) self-emancipation/ 3iTcH HFd

(d) None of these/za# ¥ IS AgT

Q19. The Great Depression occurred during

wewdY e af 7 g§ ot 2
(a) 1914 (b) 1929
(c) 1939 (d) 1922

Q20. Pakistani economist Mahbub ul Haq
created HDI in-

aifeEare Iredemrel #Agqd 3 g% o HDI frg a¥ &
oI T 41?

(a) 1991 (b) 1947 (c) 1990

(d) None of these/3TH & F1S FAd!
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